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NS7-86  Gains and Losses

1. 	� Write a plus sign (+) if the net result is a gain. Write a minus sign (–) if the net result 
is a loss.

	 a)	 a gain of $4       +        	 b)	 a loss of $2              	 c)	 a gain of $3             

	 d)	 a gain of $1 and a loss of $4 	     –	 	 e)   a gain of $4 and a loss of $2              

	 f)	 a loss of $2 and a gain of $3               	 g)   a loss of $5 and a gain of $1              

2. 	 Write each sequence of gains and losses using numbers and signs (+ and –). 

	 a) 	 a gain of $3 and a loss of $5     + 3 – 5     	 b)   a loss of $3 and a gain of $7     – 3 + 7     

	 c)	 a loss of $5 and a gain of $4                    	 d)   a gain of $7 and a loss of $6                      

	 e) 	 a loss of $6, a gain of $9, a loss of $3, then a gain of $2             – 6 + 9 – 3 + 2             

	 f) 	 a gain of $2, a gain of $4, a loss of $5, then a gain of $1                                                 

	 g)	 a loss of $4, a loss of $7, a gain of $9, then a gain of $4                                                 

	 h) 	 a gain of $3, a loss of $2, a loss of $1, then a gain of $4                                                 

3.	 Decide whether each sequence of gains and losses is a net gain (+) or a net loss (–). 

	 a)	 + 5 – 3     +    	 b)	 + 3 – 5           	 c)	 – 4 + 3           

	 d)	 – 6 + 1           	 e)	 + 9 – 8           	 f)	 + 6 – 9           

	 g)	 – 3 + 6           	 h)	 – 1 + 34           	 i)	 – 8 + 35           

4.	 How much was gained or lost overall? Use + for a gain, – for a loss, and 0 for no gain or loss. 

	 a)	 + 6 – 5 =      + 1     	 b)	 – 4 + 3 =                	 c)	 + 5 – 5 =                

	 d)	 – 6 + 6 =                	 e)	 – 3 + 5 =                	 f)	 + 7 – 11 =                

	 g)	 + 4 + 2 =                	 h)	 – 3 – 1 =                	 i)	 – 6 – 2 =                

	 j)	 – 6 + 2 =                	 k)	 + 6 – 2 =                	 l)	 + 6 + 2 =                

	 m)	 + 3 – 8 =                	 n)	 – 5 + 2 =                	 o)	 + 9 – 4 =                

	 p)	 – 5 + 7 =                	 q)	 – 3 + 3 =                	 r)	 + 8 – 87 =                

5.	� Group the gains (+’s) together and the losses (–’s) together. Then write the total gain 
and the total loss. 

	 a)	 + 4 – 3 + 2 =        + 4 + 2 – 3         	 b)    – 3 + 4 – 2 =                                    

					     =        + 6 – 3                	 =                                    

	 c)	 – 6 + 8 – 4	 =                                                 d) 	 + 9 – 6 + 2 =                                    

					     =                                    	 =                                    

BONUS  – 3 + 4 + 2 – 1 – 5 + 4 + 1 + 2 – 3 = 						    

					     = 						    
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6.	 Circle all the gains first. Then group the gains (+’s) and losses (–’s). 
	 Then say how much was gained or lost overall. 

	 a) 	 + 7 – 6 + 2 =                                   	 b) + 5 – 7 + 4 =                                   

					     =                                   			   =                                    

					     =                                    			   =                                   

	 c)	 – 5 – 1 + 3 – 2 + 4 + 6 – 4 =      + 3 + 4 + 6 – 5 – 1 – 2 – 4    

					     = 	       + 13 – 12		       

					      =  	           + 1  	                  

	 d) 	 + 6 + 3 – 4 – 5 – 8 + 2 – 1 = 					   

					     = 					   

					     = 					   

	 e)	 – 4 + 5 + 6 – 3 – 2 + 8 – 5 + 1 – 4 = 					   

					     = 					   

					     = 					   

When the same number is gained and lost, the two numbers add 0 to the expression,  
so we can cancel them.

7. 	 Cancel the numbers that make 0. Then write the total gain or loss. 

	 a)	 – 3 + 7 + 3 =     + 7      		  b)	 – 5 – 2 + 5 =                	

	 c)	 + 3 + 4 – 3 =                		  d)	 – 6 – 4 + 6 =                	

	 e)	 – 8 + 7 + 8 =                		  f)	 – 4 + 4 + 2 =                

	 g)	 + 3 + 5 – 5 =                		  h)	 – 8 – 6 + 6 =                	

	 i)	 – 7 – 8 + 7 =                 		  j)	 + 8 – 3 + 4 + 3 – 4 =                

	 k)	 – 3 + 4 + 2 + 3 – 2 =                	 l)	 – 8 + 8 – 6 + 7 – 7 =                

	 m)	 – 4 – 3 + 2 + 3 – 2 =                	 n)	 – 5 – 4 + 4 – 3 + 5 =                

	 o)	 + 6 – 5 – 6 – 2 + 5 =                	 p)	 – 3 + 2 + 4 – 5 – 2 + 6 + 3 – 6 =  + 4 – 5   

						                    these cancel			   =      – 1      

	 q)	 – 5 + 2 + 6 – 2 + 3 + 4 + 5 – 3 =                 	 r)	 + 8 – 10 – 4 + 7 – 2 + 10 – 7 – 4 =                

								        =                									      =                

	 s)	 – 4 – 3 + 2 – 7 + 4 + 2 + 3 =                

							       =                

8. 	� Find the mistake in the cancelling. Circle the two numbers that should not 
have been cancelled.

	 – 3 + 4 + 2 + 6 – 2 + 3 + 4 – 7 + 7 = + 6
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NS7-87  Integers

An integer is any one of these numbers: …, –4, –3, –2, –1, 0, 1, 2, 3, 4, ….

Sometimes the numbers 1, 2, 3, 4, … are written +1, +2, +3, +4, …

An integer is less than another integer if it is farther left on the number line.

–8 –7 –6 –5 –4 –3 –2 –1  0  1  2  3  4  5  6  7  8

largersmaller

1.	 Write three integers that are less than zero. 	 	 	 	 	 	

 
Integers that are greater than 0 are called positive. Integers that are less than 0 are called negative.

2.	 Circle the integers that are positive.      +5     8     –2     10     +3     +9     –4     –12

3.	 Circle the least integer in each pair.

	 a)	 –4  or  +6	 b) 	 –7  or  –4	 c)	 9  or  7	 d) 	 –2  or  –4
	 e)	 9  or  –4	 f)	 +7  or  +2	 g)	 –3  or  –4	 h)	 –7  or  –5

4.	 Write < (less than) or > (greater than) in each box.		

	 a)	 +2    +7	 b)	 –6    +5	 c)	 5    –3	 d)	 –2    –4	 e)	 –4    –10

5.	 Write two integers that are between –8 and –3.	            and           

6.	 Mark each integer on the number line with an X and label it with the correct letter.

 	 A +4      B –2      C +6      D –3      E –5
 
			 

	 –8  0   8 		

7.	 Put the integers into the boxes in increasing order.

	 + 6    –1    +10    –8    –3				   	 	 	 	

8.	 Put the temperatures into the boxes in order from hottest to coldest. 

	 14°C     –16°C     27°C     –15°C     –41°C 	 	 	 	 	

9. 	 a) 	 If 0 < a < b, mark possible places for a and b on the number line.

	 b)	 Mark –a and –b on the same number line. 	

	 c)	 Write the correct symbol (< or >) in each box.	

		  If 0 < a < b, then 0    –a     –b.
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NS7-90  Subtracting Integers on a Number Line

Subtraction undoes addition, so to subtract an integer, do the opposite of what you would do to  
add the integer. 

Example: (–5) – (–2)   	       To add (–2), move    2    units to the        left           .

					            To subtract (–2), move    2    units to the          right       .

–10 –9  –8  –7  –6  –5  –4  –3  –2  –1    0 +1 +2 +3 +4 +5 +6 +7 +8 +9 +10

			    			          So (–5) – (–2) =    –3     

				  
1.  	Use a number line to subtract.

	 a)	 (+6) – (–3)			   b)	 (+5) – (+2) 

		  To add (–3), move            units                  .		  To add (+2), move            units                  .
		  To subtract (–3), move            units                  .		  To subtract (+2), move            units                  .

		

	   0 1 2 3 4 5 6 7 8 9 10   0 1 2 3 4 5 6 7 8 9 10

		  So (+6) – (–3) =             			   So (+5) – (+2) =              

	 c)	 (–5) – (+4) 			   d)	 (–5) – (–3) 

		  To add (+4), move            units                  .		  To add (–3), move            units                  .
		  To subtract (+4), move            units                  .		  To subtract (–3), move            units                  .

		

	         –10 –9 –8 –7 –6 –5 –4 –3 –2 –1 0         –10 –9 –8 –7 –6 –5 –4 –3 –2 –1 0

		  So (–5) – (+4) =             			   So (–5) – (–3) =             

	 e)  (+3) – (+5) 			   f)	 (+2) – (–1) 

		  To add (+5), move            units                  .		  To add (–1), move            units                  .
		  To subtract (+5), move            units                  .		  To subtract (–1), move            units                  .

	     –5 –4 –3 –2 –1 0 1 2 3 4 5     –5 –4 –3 –2 –1 0 1 2 3 4 5 	
		  So (+3) – (+5) =             			  So (+2) – (–1) =              

	 g)	 (–1) – (–3) 			   h)	 (–2) – (+3) 

		  To add (–3), move            units                  .		  To add (+3), move            units                  .
		  To subtract (–3), move            units                  .		  To subtract (+3), move            units                  .

      

	     –5 –4 –3 –2 –1 0 1 2 3 4 5     –5 –4 –3 –2 –1 0 1 2 3 4 5 	
		  So (–1) – (–3) =            			   So (–2) – (+3) =            
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NS7-91  Subtraction Using a Thermometer

What does 2 – 5 mean on a thermometer? 

Look at 5 – 2. If the temperature is 5° and drops 2°, 
the temperature becomes  5 – 2 = 3°. 

Now switch the 2 and the 5. If the temperature is 2° and drops 5°,  
the temperature becomes  2 – 5 = –3°.

 

												               

5°C
4°C
3°C
2°C
1°C
0°C

−1°C
−2°C
−3°C

	
 

1. 	 Use the thermometer model to calculate each expression. 

	 a)	� If the temperature is 4° and the temperature drops 3°,	    
the temperature becomes 4° – 3° =            °.

		  If the temperature is 3° and the temperature drops 4°,
		  the temperature becomes 3° – 4° =            °.

	 b) 	 If the temperature is 5° and the temperature drops 1°, 
		  the temperature becomes 5° – 1° =            °.

	   	 If the temperature is 1° and the temperature drops 5°, 
		  the temperature becomes 1° – 5° =            °.

	 c) 	 6 – 4 =               and  	4 – 6 =            

	 d)	 5 – 4 =               and	 4 – 5 =            

	 e) 	 4 – 1 =               and 	 1 – 4 =             	

	 f) 	 6 – 3 =               and	 3 – 6 =            

	 g) 	 6 – 2 =               and  	2 – 6 =            		                  

6°C
5°C
4°C
3°C
2°C
1°C
0°C

−1°C
−2°C
−3°C
−4°C
−5°C
−6°C
−7°C

2. 	 a)	 Look at your answers in Question 1. In general, how does a – b compare to b – a? 

		  														                    

	 b) 	 Use your answer to part a) to predict 98 – 101:             

	 c) 	 Check your prediction on a calculator. Were you correct?             

3. 	 Use the thermometer model to subtract. 

	 a) 	 (–2) – 3 =                and 	 (–3) – 2 =            	 b) 	 (–1) – 5 =                and 	 (–5) – 1 =            

	 c) 	 (–4) – 2 =                and 	 (–2) – 4 =            	 d) 	 (–4) – 3 =                and 	 (–3) – 4 =            

4. 	 Look at your answers in Question 3. 

	 How does (–a) – b compare to (–b) – a?	  									       
 	 How do both of these compare to a + b? 									       
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5. 	 �Use the thermometer model to find the negative integer minus the positive integer. 
Then change the sign (as you did in Question 2) to find the positive integer minus  
the negative integer.

	 a)		  (–2) – 3 =	   –5     	 b)		  (–1) – 4 =             

		  so 3 – (–2) =	   +5     		  so 4 – (–1) =             

	 c)		  (–5) – 3 =	            	 d)		  (–5) – 4 =             

		  so 3 – (–5) = 	            			  so 4 – (–5) =             

	 e)		  (–4) – 5 =             	 f)		  (–6) – 3 =             

		  so 5 – (–4) = 	            			  so 3 – (–6) =             			 

0°C
−1°C
−2°C
−3°C
−4°C
−5°C
−6°C
−7°C
−8°C
−9°C

		  	 							     

6. 	� Copy each answer from Question 5. How can you get the same answer by adding 
instead of subtracting? Write the correct positive integer in the blank. 

	 a)		  3 – (–2) =    +5     		  b)	  4 – (–1) =             

			  so  3 – (–2) = 3 +    (+2)   		  so  4 – (–1) = 4 +             

	 c)		  3 – (–5) =             			  d)	  4 – (–5) =             

			  so  3 – (–5) = 3 +             		  so  4 – (–5) = 4 +             

	 e)		  5 – (–4) =             			  f)	  3 – (–6) =             

		  so  5 – (–4) = 5 +             		  so  3 – (–6) = 3 +             

7.	 In general, a – (–b) gives the same result as a +             .

8. 	 Change the subtraction of a negative integer to the addition of a positive integer. 

	 a) 	 4 – (–2) = 4 +       2      	 b) 	 7 – (–7) = 7 +             	 c) 	 8 – (–3) = 8 +             

			   =      6      			   =             			   =             

	 d) 	 (–5) – (–1) = (–5) +             	 e)	 (–3) – (–4) = –3 +             	 f) 	 (–2) – (–5) = –2 +             

			   =             				    =             				    =             

  
To subtract a positive integer, imagine moving down the thermometer.

To subtract a negative integer, add its opposite or move up the thermometer. 

9. 	 a)	 (–4) – 6 =             	 b)	 (–4) – (–6) =             	 c)	 (–2) – (–4) =             

	 d)	 6 – 7 =             	 e)	 (–9) – 4 =             	 f)	 6 – (–7) =             

	 g)	 2 – 7 =             	 h)	 2 – (–7) =             	 i)	 –2 – (–7) =             

	 j)	 (–2) – 7 =             	 k)	 (–7) – 2 =             	 l)	 7 – (–2) =             
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NS7-92  Subtraction Using Distance Apart

1. 	 How many units apart are the two whole numbers? 

	  
  0   1   2   3   4    5    6    7    8    9  10  11  12  13  14 15 16 17 18 19 20

	 a)	 2 and 5 are                units apart.		        b)	 9 and 14 are                units apart.

	 c)	 15 and 17 are                units apart.		        d)	 7 and 13 are                units apart.

2.	� Write each statement in Question 1 as a subtraction sentence. Subtract the smaller 
number from the larger number.

	 a)	        5 – 2 = 3      	 b)	                             	 c)	                             	 d)	                             

3.	 How many units apart are the two integers?

	  -10 -9  -8  -7  -6  -5  -4  -3  -2  -1    0 +1 +2 +3 +4 +5 +6 +7 +8 +9 +10

	 a)	 -5 and 2 are                units apart.	 b)	 -3 and 3 are                units apart.

	 c)	 -8 and -4 are                units apart.	 d)	 -6 and 2 are                units apart.

4.	� Write each statement in Question 3 as a subtraction sentence. Subtract the smaller 
number from the larger number.

	 a) 	   2 - (-5) =       	 b)	                             	 c)	                             	 d)	                             

a - b and b - a are opposite integers because a - b + b - a = 0. So to get a - b from b - a, just 
change the sign (from + to - or from - to +).

5.	� Subtract the smaller integer from the larger integer by using the distance apart.  
Then subtract the larger integer from the smaller integer by changing the sign. 

	 a)	      4 - (-3) =                	 b)	 (-2) - (-9) =                	 c)	 7 - 3 =               

		  so (-3) - 4 =               		  so (-9) - (-2) =                	 so 3 - 7 =                

	 d)	      6 - (-2) =               	 e)	 (-7) - (-10) =               	 f)	 204 - 198 =               

		  so (-2) - 6 =                		  so (-10) - (-7) =                		  so 198 - 204 =                

6.	 Write positive or negative. 

	 a)	� Circle the answers from Question 5 	 b)	 Underline the answers from Question 5 
where a smaller integer is subtracted from 		  where a larger integer is subtracted from 
a larger integer. When you subtract		  a smaller integer. When you subtract 
a smaller integer from a larger integer,		  a larger integer from a smaller integer, 
the answer is                         .		  the answer is                         .

7.	 Decide which integer is larger and then whether the answer is positive or negative. 				  
	 Then subtract by writing the correct sign in the circle and the distance apart in the blank.

	 a)	 (-5) - (-3) = -  2    	 b)	 9 - (-3) =        	 c)	 5 - 8 =        

	 d)	 (-6) - (-11) =        	 e)	 (-4) - 5 =        	 f)	 12 - 8 =      

Number Sense 7-92










